
  

FIRST YEAR HIGHER SECONDARY EXAMINATION 

 

Reg. No. : ...................................... 

Name : ........................................... 
 

 

 Time : 2 Hours 

MATHEMATICS (SCIENCE) Cool-off time : 15 Minutes 

Maximum : 60 Scores 

 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 Give equations wherever necessary. 

 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

  വിദ്ൿാർത്ഥികൾക്കുള്ള  പ ാതുനിർദദ്ശങ്ങൾ   
 ന഻ർദ഻ഷ്ട  സമയത്ത഻ന് പഽറീമ 15 മ഻ന഻റ്റ്  കാൾ ഓഫ് ൂ ൈം  

ഉണ്ടഺയ഻ര഻ക്ഽൈം . 

 കാൾ ഓഫ് ൂ ൈം ു ഺദൿങ്ങൾ പര഻ യീെ ഺനഽൈം  ഉത്തരങ്ങൾ ആസാ඀രണൈം 

 ീ യ്യഺനഽൈം ഉപുയഺഗ഻ക്ഽക  

 ഉത്തരങ്ങൾ എഴഽരഽന്നര഻ന് മഽമ്പ് ു ഺദൿങ്ങൾ ඀ശദ്ധഺപാർവൈം വഺയ഻ക്ണൈം 

 ന഻ർുദശങ്ങൾ മഽഴഽവനഽൈം ඀ശദ്ധഺപാർവൈം വഺയ഻ക്ണൈം  

 കണക്് കാട്ടലഽകൾ , ഻඀രങ്ങൾ ඀ഗഺഫഽകൾ എന്ന഻വ ഉത്തരുപെറ഻ൽ രീന്ന 
ഉണ്ടഺയ഻ര഻ക്ണൈം  

 ആവശൿമഽള്ള സ്ഥലത് സമവഺകൿങ്ങൾ ീകഺ ഽക്ണൈം  

 ു඀പഺ඀ഗഺമഽകൾ ീ യ്യഺനഺകഺത്ത കഺൽകഽുലറ്ററഽകൾ ഒഴ഻ീകയഽള്ള ഒരഽ 

 ഇലക്ു඀ ഺണ഻ക് ഉപകരണവഽൈം പര഼ക്ഷഺഹഺള഻ൽ ഉപുയഺഗ഻ക്ഺൻ പഺ ഻ലല . 
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Answer any 6 questions from 1 to 8. Each carries 3 scores. (6  3 = 18) 

 

1. (i) Which one of the following is equal to set A={x : x    , -4<x 6 } . 
 

A) (-4,6) 

B) (-4,6] 

C) [-4,6] 

D) [-4,6)                                                                                                                 (1)                                          

  

              (ii) Write all the subsets of  B ={3,5}.                                                                           (2) 

 

2.     Let A = {1, 2, 3, 4, 5, 6}. Defined a relation R : A  A by  

       R = {(x, y) : y = x+1,  x, y  A}.  

a) Depict this relation using arrow diagram                                                                (2) 

b) Write the domain and range of R.                                                                                          ( 1) 

 

3. Solve    
    

 
   

   

 
  . Represent the solution graphically.                                (3) 

 

4. How may three digit numbers can be formed from the digits 1,2,3,4,5  

 

by assuming that , 

 a)repetition of digits is allowed. 

b)repetition of digits is not allowed.                                                                            (3)  

      

5. Consider the circle C:                  

i)Find the center and radius of circle C.                                                                      (1) 

ii)Find the equation of another circle which is concentric with the circle C and double 

   the radius of circle C                                                                                                (2) 

 

6. Which of the following  point lie in the fifth octant? 

i)  (1,2,-3)     ii)  (-1,2,-3)     iii) (1,-2,3)   iv)  (1,-2,-3)                                            (1) 

ii) Show that the points P(-2,3,5) , Q(1,2,3) and R(7,0,-1) are collinear.                  (2)  

 



  

 
7. If  

         
     

   
 

 
 

Find the value of n                                                              

  
= 80             

 

      
                            

(3) 

 

 

 

8. A  die is thrown. Describe the following events 

     i)A: a number less than 5 

     ii)B: multiple of 2 

      Also find A B                                                                                                                                           (3) 
 

 

 

1 മുതൽ 8  വപരയുള്ള ദ ാദ്ൿങ്ങളിൽ ഏപതങ്കിലുും 6 എണ്ണത്തിന്  ഉത്തരപമഴുതുക  

3 സദകാർ വീതും (6  3 = 18) 

 

1. (i) രഺീഴ പറയഽന്നവയ഻ൽ ഏരഺണ് A={x : x    , -4<x 6 } ുനഺട് 
രഽലൿമഺകഽന്നത്  . 

 

A)   (-4,6) 

B)  (-4,6] 

C) [-4,6] 

D)  [-4,6)                                                                                                                 (1)                                          

  

              (ii)  B ={3,5}യഽീ  എലലഺ ഉപഗണങ്ങള ൈം എഴഽരഽക                                       (2)           

                                                               

 

2.   A = {1, 2, 3, 4, 5, 6}.   Aയ഻ൽ ന഻ന്നഽൈം  A യ഻ുലക്ഽള്ള ബന്ധമഺണ് R 

                               R = {(x, y) : y = x+1,  x, y  A}.  

a) R ൻീറ  ആുരഺ ഺയ඀ഗൈം  വരയ്ക്ക്ഽക                                                (2) 

b) R ന്ീറ ീ ഺൂമൻ , ുറഞ്ച് എന്ന഻വ കണ്ട്  പ഻ ഻ക്ഽക  .                                                                                       

                                                                                                                                    ( 1) 

 

3.    
    

 
   

   

 
   എന്ന ഇൻകവള഻റ്റ഻യഽീ  പര഻ഹഺരൈം കഺണഽക  

 പര഻ഹഺരൈം സൈംഖ്ൿുരഖ്യ഻ൽ അ യഺളീെ ഽത്തഽക.                    (3) 
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4. 1,2,3,4,5 എന്ന഻ അക്ങ്ങൾ ഉപുയഺഗ഻ച്ച് എ඀ര മാന്നക് സൈംഖ്ൿകൾ 
ന഻ർമ഻ക്ഺൈം 

            a) അക്ങ്ങൾ ആവർത്ത഻ച്ച് ഉപുയഺഗ഻ച്ചഺൽ 

b) അക്ങ്ങൾ ആവർത്ത഻ച്ച് ഉപുയഺഗ഻ക്ഺര഻രഽന്നഺൽ                        (3)  

                                

          5. C:                  എന്ന വിത്തൈം പര഻ഗണ഻ക്ഽക 

i) ഇ വിത്തത്ത഻ന്ീറ ുക඀രവഽൈം ആരവഽൈം കണ്ടഽപ഻ ഻ക്ഽക               (1)                                        

ii)Find the equation of another circle which is concentric with the circle C and double 

   the radius of circle C                                                                                                (2) 

6. 

i)  ഽവീ   രന്ന഻ര഻ക്ഽന്ന ബ഻രഽക്ള഻ൽ  അഞ്ചഺമീത്ത ഒക് ന്റ഻ീല ബ഻രഽ കണ്ടഽ പ഻ ഻ക്ഽക  

(1,2,-3)     ii)  (-1,2,-3)     iii) (1,-2,3)   iv)  (1,-2,-3)                                       (1)                   

ii) P(-2,3,5) , Q(1,2,3) and R(7,0,-1)  എന്ന഻ ബ഻രഽക്ൾ ുകഺള഻ന഻യർ 
ആീണന്ന് ീരള഻യ഻ക്ഽക                                                                      (2)  

 

7.            
     

   
    

        എങ്ക഻ൽ     ന്ീറ  വ഻ല കഺണഽക                                                                      (3) 
 

 

8 ഒരഽ സമ രഽര കട്ട എറ഻യഽക .  ഽവീ  രന്ന഻ര഻ക്ഽന്ന സൈംഭവങ്ങൾ 
പര഻ഗണ഻ക്ഽക 

     i)A: 5 ഇൽ  കഽറവഺയ ഒരഽ സൈംഖ്ൿ 

     ii)B: 2 ന്ീറ ഒരഽ ഗഽണ഻രൈം       

            A B     കഺണഽക                                                                                                                       (3)                    

 

 

           Answer any 6 questions from 9 to 17. Each carries 4 scores. (6  4 = 24) 

 

9. If U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8}, B = {2,3,5,7}, 

           find 

          a) A                                                                                                                                          (1) 

          b)  A  and  B(1) 

           c )  verify that (A  B) = A  B.                                                                                    (2) 

 

 



  

10. (i) Draw the graph of the function f : R  R defined by f(x) = |x| + 1.                                        (2) 

       (ii) Write the domain and range of  this  function.                                                                 (2) 

 

  11. a) Express 
  √   

  √   
  in a + ib  form                                                                                                     (2) 

        b)Find the multiplicative inverse of  4 – 3 i.                                                                                  (2) 

   

 12.  i) If      =    , then the value of  n is ------------------ 

         a)10       b)13      c)17     d)19                                                                                                        (1)  

         ii) In how many ways can a team of 3 boys and 3 girls  be selected from 5 boys and 

              4 girls                                                                                                                                        (3)  

 

13. i) The number of terms in the expansion of          is ------------------------ 

       a) 6       b) 7     c) 8    d) 9                                                                                                      (1)  

       ii) Expand                                                                                                                     (3) 

14. i) Write the 10
th

  term of the sequence  whose n
th

 term is 

                     
    

 
                                                                                                                   (1)       

      ii) Find the sum of n terms of the sequence    8, 88, 888, 8888 ,……………..                    (3)         

  

15. Find the co-ordinates of the foci, vertices, eccentricity and the length of 

      latus rectum of the ellipse    
  

  
  

  

 
  .                                                                                (4) 

16. A card is selected from a pack of 52 cards 

        i) Calculate the probability that the card is an ace of spades                                                  (2) 

        ii)Calculate the probability that the card is  

                a) an ace 

                b) a black card                                                                                                                  (2)          
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Answer any 6 questions from 9 to 16. Each carries 4 scores. (6  4 = 24) 

 

9. U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8}, B = {2,3,5,7}, 

           ആയഺൽ            

           a) A        കണ്ടഽപ഻ ഻ക്ഽക                                                    (1)                                                                           

           b)  A  and  B കണ്ടഽപ഻ ഻ക്ഽക 
(1) 

           c )   (A  B) = A  B. എന്ന് ീരള഻യ഻ക്ഽക                     (2)                                                                

 

 

10. (i) f : R  R ,    f(x) = |x| + 1എന്ന ഏകഺദത്ത഻ന്ീറ ඀ഗഺഫ് വരയ്ക്ക്ഽക.                                             

(2) 

       (ii) അര഻ന്ീറ   ീ ഺൂമൻ , ുറഞ്ച് എന്ന഻വ കണ്ട്  പ഻ ഻ക്ഽക.                                                                 

(2) 

 

  11. a)  
  √   

  √   
   ീന  a + ib   രാപത്ത഻ുലക്് മഺറ്റ ക                                                                                                   

(2) 

        b) 4 – 3 i  യഽീ  ഗഽണവ഻പര഼രൈം  കഺണഽക                                                                                  

(2) 

   

 12.  i)       =    ,  ആയഺൽ  n ------------------ 

         a)10       b)13      c)17     d)19                                                                                                        (1)  

         ii) 5 ആൺകഽട്ട഻കള ൈം 4  ീപൺകഽട്ട഻കള ൈം  ഉള്ള ഒരഽ സൈംഘത്ത഻ൽ 
ന഻ന്ന് 3 ആൺകഽട്ട഻കള ൈം  3 ീപൺകഽട്ട഻കള ൈം ഉൾീെ ഽന്ന ഒരഽ  ഼മ഻ീന 
എ඀ര രരത്ത഻ൽ ീരരീെ ഽക്ഺൈം ?                                                                         (3)  

13. i)         എന്ന വ഻പഽല഼കരണത്ത഻ൽ എ඀ര പദങ്ങൾ ഉണ്ട് 

       a) 6       b) 7     c) 8    d) 9                                                                                                      (1)  

       ii)                   വ഻പഽല഼കര഻ക്ഽക                                                                                                   (3) 

14. i)      
    

 
   എന്ന ു඀ശണ഻യഽീ  പത്തഺമീത്ത പദൈം കണ്ടഽപ഻ ഻ക്ഽക  (1)                                                                                                                           



  

      ii) 8, 88, 888, 8888 ,……………..  എന്ന ു඀ശണ഻യഽീ  ‘n’ പദങ്ങള ീ  രഽക 
കഺണഽക                  (3)         

  

15 .     
  

  
  

  

 
   എന്ന എല഻പ്സ഻ന്ീറ ുഫഺക്സഽകള ീ യഽൈം , ീവർട്ട഻സ഻സഽകള ീ യഽൈം സാ ക 

സൈംഖ്ൿകള ൈം ,എക്ീസന്඀ ഻സ഻റ്റ഻യഽൈം ലഺറ്റക്് ീറക് ത്ത഻ന്ീറ ന഼ളവഽൈം കണ്ടഽപ഻ ഻ക്ഽക     (4) 

                                                                              

16.  52 കഺർ ഽകള ള്ള ഒരഽ പഺയ്ക്ക്റ്റ഻ൽ ന഻ന്ന് ഒരഽ കഺർഡ് എ ഽക്ഽന്നഽ  

 

    i) ്ുപഡ് കഺർ ഽകള഻ീല എയ്ക്്  ലഭ഻ക്ഽന്നര഻നഽള്ള സഺധ്ൿര എന്ത് ?  (2) 

 

   ii)a) ഒരഽ എയ്ക്്   കഺർഡ് 

       b) ഒരഽ കറഽെ്   കഺർഡ് 

   എന്ന഻വ ലഭ഻ക്ഽന്നര഻നഽള്ള സഺധ്ൿര എന്ത് ?                            (2)          

 

Answer any 3 questions from 17 to 20. Each carries 6 scores. (3  6 = 18) 

 

 

17. i)  If cot x = 
 

 
 , x lies in third quadrant, then find the values of  tan x, cos x  and sec x.             (2) 

      ii) Find sin 15° 

      iii) Show that  tan 3x . tan 2x. tan x = tan 3x –tan 2x – tan x.                                                       (2) 

18.i) The slope of  a line through the point (2,5) and (-3,6) is ---------------- 

 

        a)  
 

 
        b) 

 

 
     c) - 

 

 
         d) - 

 

 
                                                                                                    (1) 

     

      b) Find the equation of line passing through the point (-3,5)  and  perpendicular to the 

          line through the points (2,5) and (-3,6)                                                                                     (3) 

      c) Find the distance of the point (3,-5) from the line 3x - 4y - 26 = 0                                         (2) 

 

19. i) Find the derivative of cos x with respect to x  using first principle.                                        (3) 

 

     ii) Find the derivative of    
     

    
 .                                                                                                  (3) 

 

20. Calculate mean, variance and standard deviation of the following frequency distribution. 

Class  30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Frequency      3      7           12     15      8       3       2 
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Answer any 3 questions from 17 to 20. Each carries 6 scores. (3  6 = 18) 

 

 

17. i)   cot x = 
 

 
 , x മാന്നഺമീത്ത കവഺ඀ ൻറ്റ഻ൽ സ്ഥ഻ര഻ീ യ്യ ന്നഽ എങ്ക഻ൽ tan x, cos x  , sec x 

          എന്ന഻വയഽീ  വ഻ലകൾ കണ്ടഽപ഻ ഻ക്ഽക          (2) 

      ii)  sin 15° യഽീ  വ഻ല കഺണഽക   

      iii)  tan 3x . tan 2x. tan x = tan 3x –tan 2x – tan x  എന്ന് ീരള഻യ഻ക്ഽക                     (2)                                 

18.i) (2,5)  , (-3,6)  എന്ന഻  ബ഻രഽക്ള഻ലാീ  ക ന്ന് ുപഺകഽന്ന വരയഽീ   ര഻വ്  ----------------  
ആണ് 

 

        a)  
 

 
        b) 

 

 
     c) - 

 

 
         d) - 

 

 
                                                                                                    (1) 

     

      b)  (2,5) , (-3,6)  എന്ന഻ ബ഻രഽക്ള഻ലാീ  ക ന്ന്ുപഺകഽന്ന വരയ്ക്ക്് ീലൈംബവഽൈം 

 (-3,5)       എന്ന ബ഻രഽവ഻ലാീ  ക ന്നഽുപഺകഽന്നരഽമഺയ വരയഽീ  സമവഺകൿൈം എഴഽരഽക          

                                                                                                                                                               (3)                                                                                     

      c) 3x - 4y - 26 = 0  എന്ന വരയ഻ൽന഻ന്നഽൈം    (3,-5)   എന്ന ബ഻രഽവ഻ുലക്ഽള്ള 
അകലൈം കീണ്ടത്തഽക                                 (2) 

 

19. i) cos x ൻീറ ീ റ഻ുവറ്റ഼വ് ഫസ്റ്റ് ඀പ഻ൻസ഻െൽ ഉപുയഺഗ഻ച്ച് കണ്ടഽപ഻ ഻ക്ഽക.  (3)                                       

 

     ii)    
     

    
  ൻീറ ീ റ഻ുവറ്റ഼വ്  കണ്ടഽപ഻ ഻ക്ഽക.                                                                                                  

(3) 

20.  ഽവീ  രന്ന഻ര഻ക്ഽന്ന പട്ട഻കയ഻ൽന഻ന്നഽൈം  മഺധ്ൿൈം ,ുവര഻യൻ് 
,സ്റ്റഺൻു ർഡ്  ഼വ഻ുയഷൻ എന്ന഻വ കണ്ടഽപ഻ ഻ക്ഽക. 

 

Class  30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Frequency      3      7           12     15      8       3       2 

 

 

    
 



  

     Group Members 

 

 
1 REKHA A K 

HSST MATHEMATICS 

GHSS PALLIKKUNNU 

9446900754 

2 SHAMMINA A 

 HSST MATHEMATICS 

 AKGS GHSS PERALASSERY 

3 LISHA M K 

 HSST MATHEMATICS 

 GOVT.TOWN HSS KANNUR 

4 ANILA K 

 HSST MATHEMATICS 

 CHOVVA HSS 

 9995479694 

5 SHIJILA M K 

 NVT IN MATHEMATICS 

 GVHSS THOTTADA 

 9495884718 

6 RINTO P S 

 HSST(Jr) MATHEMATICS 

 GHSS PUZHATHI 

 9747802238 

7 AMEYA MOL 

 HSST(Jr) MATHEMATICS Guest 

 ST.TERESA’S AIHSS KANNUR 

 9497052197
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